[ it dox Lo,

/Wf/gf/y’&ffg
Hame KET 7

P gﬁ( =y / 245

< i3.56
=5
L
%iﬁe\f} = e T X
L) = et e x Foen
= D deex foni
g i;(\f;} — Qkﬁﬁ"&z’}f M.@z}( + QYI‘VMX Qﬂé&){, /W,-Vai;ﬂmg

= QaeeFx o ave? i o ¥

Ze %ﬁgg@@@ that ®y = constant . If ¥ is Intreesing ot & rate of 2 ft/min, ot whsl rate
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4. Boat A {5 20 miles sast of & lighthoues, and heading sast ot 10 mifhr, whils hoat B

is 30 miles south of the lighthouss heading north 8t 5 mifhr. Are the boate gatting
closer {ogether or {arther apart?
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3. Approgimats (2813 ugin i tangent line eppronimation.
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